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Bridge

   How to Capture a Knave

Assume you’re in five clubs and West,
after cashing two spades, shifts to the queen
of hearts, which you win with the king.

Barring a 5-0 trump break, your only real
concern is that one opponent might have
four diamonds to the jack, in which case
you might lose a diamond trick.

You start by cashing the A-Q of clubs,
noting the 4-1 division, and then lead the
spade jack, ruffing with dummy’s king as
East plays the seven. You then draw East’s
two remaining trumps, taking the marked
finesse against the ten.

On the last trump play, you discard a heart
from dummy. West, in the meantime, has
parted with two  With five tricks to go, your
only worry is the possible diamond loser.
If the suit is divided 3-2, it doesn’t matter
how you tackle it, but if the suit is divided
4-1, you’ll have to handle your diamonds
with care.

 So, after taking the ace of hearts, you
cash the ace of diamonds, on which East
plays the deuce and West the eight. West’s
eight might lead you to think that he had
either the singleton eight or the doubleton
J-8.

But if on that basis you were to cash the
king next, you’d go down one. However,
the correct play of a low diamond to your
queen exposes the actual 4-1 diamond di-
vision and allows you to make the contract.

The decisive clue is that West can’t pos-
sibly have a singleton diamond because
that would mean he started with [S]
AKQ105 [H] QJ10976 [D] 8 [C] 5 — and
with that holding he surely would have bid
two hearts after you bid two clubs.

   Therefore, if the diamonds are
indeed divided 4-1, it is West, not East, who
has four of them.
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Mother Goose and Grimm • Mike Peters

Baby Blues • Rick Kirkman & Jerry Scott

This is a logic-based
number placement puz-
zle. The goal is to enter
a number, 1-9, in each
cell in which each row,
column and 3x3 region
must contain only one
instance of each nu-
meral. The solution to
today’s Sudoku puzzle
is right.
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